
STUDENTS'  PRACTICE ASSESSMENT A   -- ANSWER SHEET

1.   acidity = ac/id/ity = sharp/in a state or condition/quality or condition or state = 3 marks

2.  arborescence = arbor(e)/sc/en/ce = tree/step-by-step or progressive/-ing or present participle/Q or C or S = 4 marks

3.  auricle = auri/cle = ear/small or diminutive = 2 marks

4.  receptor = re/cept/or = back/to take/agent = 3 marks

5.  corporation = corpor/at/ion = body/do or perform or put into action/action or condition resulting from action = 3 

marks

6.  intracostal = intra/cost/al = within/rib/pertaining to = 3 marks

7.  decisive = de/cis/ive = down from/to cut or kill/quality or nature of = 3 marks        (   corrected on 20230128  )

         TOTAL = 21 marks = 105%


